Basic C/C++ Programming Name:

Solution of Quiz ©5

1. WAE C++ EE—EA 10 (EEE (int) KIS (array) dadals A ?

a) int A[] = 1e; b) int[10] A; c) int A[] = {10};
d) int A[10]; e) array<int> A[10];

2. #—{jf§ double /& 8 bytes ’EUEi€§\ double Z[BG];\@é’ FEZI Z {5%% bytes ?
a) o b) 8 c) 30 d) 240 e) 248

Ans: 8 * 30 = 240..

3. 2 B afafsA Z {2 bytes ?
a) sizeof(2) b) sizeof(Z[]) c) sizeof(Z[39])
d) sizeof(double []) e) sizeof(Z)/sizeof(double)

Ans: sizeof(double [30]) A o

4. 2 B AMEISRIES] 2 HR(ETER ?
a) sizeof(Z) b) sizeof(Z[]) c) sizeof(Z[39])
d) sizeof(double [30]) e) sizeof(Z)/sizeof(double)

Ans: 240 / 8 = 30..

PUN 3 @2 A 715 (A is local) - 1 int A[100];
5. B RS AE S AR gEER - {AEIE ? 2 for (int i 0; i <= 100; ++i)

a) FEAaR s [ - o
b) 5 2 {7 ++i JEXK i++

c) B 2 7 i <= 100 JEX i < 100
d) 5 3 17 A[i] = 0; JEXk A[i-1] = e;

e) %5 3 17 A[i] = @; JEISuk A[] = {e};
Ans: [#%] A 75 A[@] ~ A[99] #: 100 {ETZ » for loop JEfL @ ~ 99 -
6. 2 FEH > THIH—(E statement T[LIE{LHS 3 1T statements ?
a) int A[100] = ©; b) int A[100] = {0}; c) int A[100] = 100*{0};
d) int A[1l00]; e) int A = 0;
Ans: local HYy int A[1e0]; R&WHIA(LrIgEAHIRIE » R iE stack #
el global Y int A[100]; RIEETTZEH EE 0 NAEIE heap # -
7. ERE 1 TE0R » B EHEAREEE ?
a) & HHITIF G4 segmentation fault b) & AdmeEas HAIERS] A 2K/

LU 2 EsF 2 A T2 S 1 wvoid f(char str[]) {
8. 5 2 1THY test (REfFIE) FEA % 2 if ([/* str is not an empty string */)){
HOA(HE expression 7817 | 5 Str[1] = str[4];
a) !str[o] 4 str[4] = ;
b) str[0] 5 }
c) str I="" 6 }




d) str == ""
e) str =0

Ans: E str[0] f2'\0'({H == Q)i N EZEF & -

9. [EIPIYEAREATEE [char T[10] = "hello”; £(T);|  XCM@IPIY £(T) 1% > T HYEEERL ?
a) "holla" b) "hallo" c) "halla" d) "lelao" e) "hello"

Ans: [EFIZ{ESE (or (FIEHE) » NWEE L function F] -

10. {Ejé%ﬁ\char‘ w[20] = "hello", x[20] = "wor*ld";\’éfcf‘u'ﬁLy\—FﬂﬂE~{‘iﬁlﬁ%é—\iiﬁ’\j

expression?
a) w[x] b) w + x c) w =X d) w++ e) w[e] = x[0]
Ans: [EFFEFLEESIFHEEALE - b) (T ESMEAMEN 5 c)d) LB R R-value » RLFHEYI4FEA R

WHRIK > a) U BMAE index -

11. &% char S[] = "hello”;| > RMES] S FYA/NEZ byte(s) ? (1 char = 1 byte)
a) 4 b) 5 c) 6 d) 7 e) 8

Ans: FERGERGHEN—(EGERTIT \0'




